Secondary 1
Vocabulary Cards and Word Walls

Revised: March 16, 2012

Important Notes for Teachers:

e The vocabulary cards in this file match the Common Core, the math
curriculum adopted by the Utah State Board of Education, August 2010.

e The cards are arranged alphabetically.

e Each card has three sections.

O Section 1 is only the word. This is to be used as a visual aid in
spelling and pronunciation. It is also used when students are writing
their own “kid-friendly” definition and drawing their own graphic.

0 Section 2 has the word and a graphic. This graphic is available to be
used as a model by the teacher.

0 Section 3 has the word, a graphic, and a definition. This is to be used
for the Word Wall in the classroom. For more information on using a
Word Wall for Daily Review — see “Vocabulary — Word Wall Ideas”
on this website.

e These cards are designed to help all students with math content vocabulary,
including ELL, Gifted and Talented, Special Education, and Regular
Education students.

For possible additions or corrections to the vocabulary cards, please contact the
Granite School District Math Department at 385-646-4239.
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absolute value

equation
absolute.value 3x-7=23
equation
absolute o
value 13x-7|=23  ‘ubiewitinsm

absolute value symbol.

equation



absolute value
inequality

absolute value 18<|-2x+6

inequality
absolute o
value  18<[-2x+6] "t

absolute value symbol.

inequality



The union of two rays

hat h h
angle e e




2 rows of 5 = 10 square units
or

area 2 ¢« 5=10 square units

2 rows of 5 =10 square units
or
2 ¢« 5=10 square units

interior region of a 2-
a r e a dimensional figure or

the surface of a
- 3-dimensional figure.

The measure, in
square units, of the




arithmetic sequence

® o an=a1+(l’l—1)d
a r lt m e tl c The first term is a;, the common difference is d,
and the number of terms is n.

Example: 3,7, 11, 15,19
a,=3,d=4,n=5

S e u e n c e The explicit formula 1s
a,=3+m-1)4=4n-1

a,=a;+(n-1)d
° S The first term is a;, the common
arlthmetlc difference is d, and the number of A sequence suchas 1, 5,9, 13,
terms is N. 17,21 0r 12,7, 2, -3, -8, -13
Example: 3,7, 11, 15, 19 which has a constant difference

Sequence a,=3,d=4,n=5 between terms.

The explicit formula is
a,=3+mn-1)y4=4n-1



ASA (Angle-Side-Angle)

If two angles and the
included side of one triangle
A S A are congruent to the
corresponding angles and
included side of another

triangle, then the triangles are
congruent.




association

The more food you eat, the more
calories you ingest.

w Any relationship between two
: measured quantities that
\P)// renders them statistically

° ° ’/ dependent. The term

a S S O CI ath n ‘ \/ “association” refers broadly
C/ to any such relationship,
whereas the “correlation”

The more food you eat, the more refers to a linear relationship
calories you ingest. between two quantities.



asymptote

y vertical
4+ asymptote
\
|
\
horizontal A
asymptote =
N X
\
v

y vertical
4+ asymptote

|

\
A line that the graph of a
t t ’;;’;;i;’,':;fj S~ function gets closer to as

as ’ mp O e ) EERN > X or Yy gets larger in
\ absolute value.




average rate
of change

miles
200 N
a i e r a g e I a t e 160 average rate of change
L
120 B
140-20 120 _ (0
80 4-2 2
40
of change i
0 2 4 6 8 10 :hours
miles
- The average rate of

160

)i average rate of change change of a function
average rate 120 between any two

140-20 120 _ S
80 4_y oomp points is the slope of

Of Change 40 the line connecting

those two points.

0 2 4 6 8 10 hours



bisect

bisect




bivariate data

Height Weight
(inches) | (pounds)
67 155
72 220
77 240
74 195
69 175

Height Weight

(inches) | (pounds) A set of data that

bivariate

67 155 show the relationship

72 220 between two
d at a 77 240 variables.

74 195

69 175




boundary

boundary
lin e boundary line

The line that divides a plane
into two half-planes, e.g.,
when graphing the
b oun d ary inequality y<2x-+4 the
boundary line is the
s graphy=2x+4. The
lln e boundary line boundary line may or may
not be part of the solution to
an inequality.



O X p lO t 0 510 1520 25 30 35 40 45 50 55 60 65 70 75 8 & 90 %5 100

A diagram that shows the
five number summary of a
distribution. (Five

-— o number summary includes
O X p O t lowest value, lower
R R N W N N R quartile, median, upper
quartile, and highest
value.)




categorical
qualitative) data

Favorite Primary Color

categorical g
(qualitative) 3

data

Favorite Primary Color

Data where the values of the

o 14 variables are merely the
C ategO riC al 8 2 names of discrete,
. . § 10 independent categories.
(qu allt atlve) E 8 The categories can be given
G numerical codes, but they
< 4 cannot be ranked, added,
d ata 2 multiplied or measured
against each other.

Blue Red Yellow



causation

Ulcers are caused by stress and spicy food.

There is a correlation between the independent

o variables (stress/spicy food) and the dependent
c a u S a l O n variable (ulcers) but the independent variables
were NOT the cause. We know that ulcers are

caused by a corkscrew-shaped bacterium
Helicobacterpylor (H.pylori).

The relationship between cause

Ulcers are caused by stress and spicy food. and effect. This occurs only
when the relationship between
There is a correlation between the independent the two variables can be proven
hd variables (stress/spicy food) and the dependent through a scientific experiment
c a u S atl O n variable (ulcers) but the independent variables following strict guidelines.
were NOT the cause. We know that ulcers are Only in this way can we rule
caused by a corkscrew-shaped bacterium out other factors that may affect
Helicobacterpylor (H.pylori). the relationship that we see in

the observed values.



_ Examples:
x €
SRL W R
X 0ac =
X X :B"
X X
X X x X Median = 2
X X X X
X X X X X
12 3 4 5 Mean = 2.3
Number of Pets
An average; a single
. e Examples: value that is used to
X - represent a collection of
X m Mode =1 data. Three commonly
j‘( i used types of averages
c e n e r « x  x  x Median = 2 are mode, median, and
X X X X mean. (Also called
— X ¥ % X | Mean =23 measures of central
1 2 3 4 5 tendency or measures of
Number of Pets average.)



A plane figure with all

) . h d.
circle points the same distance

a center.



circular arc

B
°
CIrcular AQ A segment of the
o circumference of a
a r c circle.



cluster

Hours Watching TV In One Week

cluster
X X
X XXX XXX
X HKAERKAKAKAKAKAKAKANA X
PO G & D &8 880 8esessssssss P

cluster

.........................................

A group of the same or
similar elements
gathered
or occurring closely

X together on a graph.

Hours Watching TV In One Week

cluster
x X

X AXX XXX

x HKARKAKKRKAKAKAKAAK x

XK AKX HKAAXRKKLALARRAKAAKRKAAAX

cluster




coefficient

5X
coefficient /

coefficient

f f ° t A numerical factor in a
term of an algebraic
coefficien /' ofan el



composition
of functions

Domain of f Range of f

composition O
of functions ) (oo

Sfx) 8(flx)
Domain of g Range of g

Domain of f Range of f

Il;gl}jt Ogtfpf“t The output from the first

composition WANE function becomes the

input for the second

0O f funCtion S Input Output function. Usually written

of of
ﬂxg g(ﬂfc’)) as f(g(x)) or (f o g)(x).

Domain of g Range of ¢




compound
Inequality

compound —1< X and X <3
inequality X<—1or x>3

COmpOund _1 <X aIld X S 3 A mathematical sentence

with two inequality
statements joined by

inequality X < _1 or X Z 3 “and” or “or”.



conditional
relative frequency

conditional

ance Movies | TOTAL

® Women 0.1

relatlve Men 0.1

TTTTT
frequency
°oq 0 The relative
COlldlthIl al e [ frequencies in the body
o e B o1 016 060 of the table are called

relatlve P e e Y conditional frequencies

or the conditional
TTTTTTTT

frequency Tl distribution.




congruent

congruent

Two figures are
S~ congruent if they have
the same shape and size.

congruent



consistent system

consistent
system e

consistent T~

) A system that has at least
.10l -8 164D 2. 4 8 110 .
b X one solution
S Yy stem :
18
-10




constant percent
rate

constant
percent rate

constant
percent rate




constant rate
of change

constant rate 8
of change 2

o In linear relationships the

c O n S t a n t constant rate of change is
8

illustrated as the slope of
the graph of the equation.

r ate This is so because the
4 change in y divided by the
change in X is constant for

O f c h a n g e 2 any two points on the line.




constant term

te rm constant



continuous
line or curve

continuous 4
line or curve giiits

continuous : A line or curve that

extends without a break

line Or curve . 1 1 or irregularity.




coordinates



correlation
coefficient

y =94.171x - 53.429
g 3007 P =0.8637

correlation

100

coefficient |

y =94.171x- 53.429
g 3007 7 =0.8637

correlation
coefficient

A value that shows the
strength of the linear
relationship between two
variables.




corresponding side

side : C

B
Y
If the relative
o position of two
correspondlng sides is the same in
S . two figures, then
A X

Slde they are called

ABand XY are corresponding sides.
corresponding sides



dependent system

dependent poys
system o ;

dependent AL URTTI
system v AL
A




discrete

Yy
di t
?
Yo
° A type of data is discrete
if there are only a finite
) number of values

°
dls c r ete ) - g possible or if there is a
space on the number line
between each 2 possible
values.




distance formula

distance
formula

dis t ANCe . : The formula used to

find the distance
d=\/(x2'x1) +(y2'y1) between two points

formula



{(29 '3)9 (49 6)9 (39 '1)9 (79 6)9 (69 3)}

domain: {2,3,4,6,7}

{(29 '3)9 (49 6)9 (39 '1)9 (79 6)9 (69 3)} The set of“input”

°
d O m aln values for which a
domain: {2,3,4,6,7} function is defined.



dot plot

dot plot m

m Also known as a line

plot. A diagram
showing frequency of
. data on a number line.

dot plot

-T e ©6 © 6 6 0 0 ©

2 3 4 5
Number of Pets



elimination

5X+0=20 Add the equations to get x = 4.

l ® ® ®
e l m l n atl O n 3(4) —-y= 19 Substitute 4 for x in the second equation.

12 —y=19
y =—7 Solve for y.

A method for solving a
system of linear

elimin atiO n equations. You add or

3(4) —y =19 Substitute 4 for x in the subtract the equations to

second equation.

12 —y=19 eliminate a variable.

5X4+0=20 Add the equations to get x = 4.

y =—7 Solve for y.



end behavior

e n d The appearance of a

graph as it is followed
farther and farther in

s . . .
b e h aVlO r o behavior T | either direction.

N




equal differences

The sequence {3, 5,7,9, 11,...} is made by

l adding 2 each time, therefore it has a
e q u a common or equal difference of 2.
o
differences -
0123458678910

The sequence {3,5,7,9, 11,...} 1s made

by adding 2 each time, as so has a Th mmon
e u a common or equal difference of 2. ) © o 0
difference between
cach number in an

d i ffe r e n c e S | > arithmetic sequence.

0123 4567 8 910




equal factors

A population doubles every year, 2" where two is the
factor and n represents time in years.

year population
1 2
\ X 2
2 4 (
2
3 8
\ X 2
5 32 /

A population doubles every year, 2" where two is
the factor and n represents time in years.

l year population
e q u a 0 5 Repeated multiplication
\ X 2
5 4 / by the same number or
3 » > x2 factor.
actors &
4 16 C
> * 2
5 32




equation

A statement that the
values of two

equation 9x-8=22-x I

(indicated by the sign =).



equilateral triangle

equilateral
triangle

equilateral
triangle




even function

Ya
10
8
n 6
4 f(x) =4
2
0564 2, 2463 0
® -4
-6
8
10
1}; 0 A function is even if
g f(X) = f(—x) for all X in the
eV e n 6 fx) = 4 domain of the function.
5 (X) = Geometrically, the graph of an
N IRy B TR even function is symmetric with
® 'i respect to the y-axis. That means
u n Ctl O n P that the graph of the function
-8 remains unchanged after
0] reflection about the y-axis.




exponential
equation

exponential
equation
exponential e tin i

equation exponent



explicit formula

explicit ety =20+ 5

positive integers n.

If n =", then

formula st

Sy Leta, =2n + 5 for
EXPIICIt posi’:ive integers n. An explicit formula

expresses the nth term of

If n =71, then a sequence in terms of n.
formula | %%



exponential
function

Ya

exponential | |

80 / fix)=2"
o
function L
/
0 5 10
Ya
0 / A function that repeatedly
s 160 multiplies an initial amount by
exp O n e ntl al / the same positive number.
120 / o= 2" You can model all exponential
o - functions by using f(x) = ab”,
fu n Cth n ? / where a is a nonzero constant,
40 / b>0ab#1.
/ a

0 5 10 y



exponential regression
model

600 - y =20.512(1.923)"

exponential o
regression o
model R

600 - y =20.512 (1.923)"
1> =0.9989
500 - : A model that shows

° = -
eXp O n e ntl al £ 400 e the relationship
. ] between two
regreSSlon variables by fitting
0 - an exponential
function to observed
model e data

Number of Ba
N




expression

variables, numbers,

expression Sx + 3 wimw

represents a
mathematical

relationship.



extrapolate

y =11.731x+ 193.85
[

Calories

0 5 10 15 20 25 30 35 40
Fat (g)

Using your regression equation, find the total calories
based upon 40 grams of fat?

extrapolate -~

700
600 -
500 A
400 -
300 -

y =11.731x+ 193.85
[ ]

Calories

To estimate or infer a

e Xt r ap O l at e o | value or quantity beyond

—_——— the known range of data.
0 5 10 15 20 25 30 35 40

Fat (g)

—

Using your regression equation, find the total
calories based upon 40 grams of fat?



factor AN

2 * X = Zx Any of the numbers or
symbols in mathematics
a Ct O r that when multiplied

faC tOfS together form a product.



function

Domain Range
x) o)
-3 -10
2 -

A relation that assigns
exactly one value in the

4
°
fu n Ctl O n o1 01 range to each value in
5 the domain.
8



function notation

function

. x)=3x-8
notation
function owrieanein
f(xX) =3x—8 higmbaiom

nOtation place ofy.



Hours Watching TV In One Week

X
X X
a X XXX XXX gap
X HKXHXHXAKKKKXKX XX X

D A & 92222229088 80888594 X

...........................................

Hours Watching TV In One Week

: A place on a graph
a x where no data
g p < e x gap values are present.
X X XX KAXXKXKAXXXKXAKKXXXKX XX f_H %

...........................................



geometric
sequence

o _ -
an - al o7
e O m e rl c The first term is &, the common ratio is T, and the number of
terms is n.

Example: 2, 6, 18. 54, 162
a=2,r=3,n=5

The explicit formula is
a,= 2 e 311 -1

([
The first term is a,, the common ratio is A sequence SUCh as 7 6.18. 54
geome rlc r, and the number of terms is n. {11 s Uy ) )

Example: 2, 6, 18. 54, 162 162 or 3, 1,5, §,EWhICh has a

S e u e n c e A constant ratio between terms.
The explicit formula is

a,=2e3""!



half-plane

The portion of a plane
lying on one side of
some line in the plane.
h alf_p l a n e .The grqph .of a linear
half-plane inequality is always a
half-plane.



histogram

Ages of People Attending a Movie a , //
o ARG

2 87

&

2 6

3

5

E

=

= 92—

]
0-5 6-10 11-15 16-20 20-25 25-30
age
"x"é%!;,n
Ages of People Attending a Movie a
ML
o 8 .
s A bar graph in
h o t £ 7 which the labels for
lS Ogram i: 4 the bars are
g, numerical intervals.
1

0-5 6-10 11-15 16-20 20-25 25-30
age



horizontal intercept

horizontal
intercept

Also known as the
X-intercept. It can be

h O riZ O ntal found by sqbstitutipg “0”
‘ > for the variable y in the
intercept 2 0) ' equation y = mx + b.

O=mex+b




horizontal translation
horizontal ./ .,
translation

N

™.

Horizontally translating a
graph is equivalent to
/ / shifting the parent

[ ]
h O rlZO ntal ) A v o / v ,  function left or right in the
/ : / *  direction of the x-axis. A
o . .

graph is translated K units

tr a n S l ath n horizontally by moving
\ \ each point on the graph k
fx) flx+2) units horizontally.




inconsistent

inconsistent A syt hs o
0 -2_2 2 NO;X solution.
system e




Increasing
exponentially

V4

increasing
exponentially

(o>}
'

I

-
=

Something is said to
f (X) =3"—1 increase exponentially if
° ° i its rate of change is
ln c r e a S ln g 6 expressed using
- exponents. A graph of
° - such a rate would appear
exp O n e ntl ally 2 not as a straight line, but
< R as a curve that continually
) -I 'i — becomes steeper or
: shallower.




Increasing
linearly

y
° ° - f(x)==x+1
increasing e
o A :
linearly z
y4A 1 A function is said to
pee f(x)==x+1 increase linearly if its rate

t t 2 2 of change is constant. That
INCrcasin g p=ad is, the change in y divided
“— — by the change in X is
o : constant for any two points
lln e arly 2 on the function. The graph
3 of such a function would
T appear as a straight line.




independent system
independent \
system -

independent R
system H |




inequality

Sx+6<20-2x

inequality

Sx + 6 < 20 — 2x A mathematical

sentence that
compares two unequal
expressions using one
of the symbols <, >, <,

>, O #.

inequality




infinitely many
solutions

infinitely many \
solution

inﬁnitely many \ A system of equations
gt —— NO g that are dependent and
SOlutlonS j consistent.




() =2(x+1)-7

input: x=3

®
Input 92017

=87
=1
f(x) = 20+ 1) = 7
input: x=3
et A value of the
lnp Ut f(3)=23+1)-7 independent variable.
=24)-7
=8 -7

=1



interpolate

700
600 -
500 -
400 -
300 -

interpolate -~

0 5 10 15 20 25 30 35 40
Fat (g)

Using your regression equation, find the total calories
based upon 26 grams of fat?

y =11.731x+ 193.85
o

Calories

y =11.731x+ 193.85
[

To estimate or infer a
value or quantity that

Calories

[ ] i
lnte l‘p 0O l ate o | falls within the range of
’ — values plotted on the
0 5 10 15 20 25 30 35 40
Fat @) scatter plot.

Using your regression equation, find the total calories
based upon 26 grams of fat?



interquartile range

interquartile
range

A
A\

'Y
L4

"0 5 1015 20 2530 35 40 45 50 55 60 65 70 75 80 8 90 95 100

interquartile
- - — he diff
° g The difference
lnterqu artlle between the upper
— —° quartile and the
range lower quartile.

[EEEEN] TN
T —P

"0 5 101520 25 30 35 40 45 50 55 60 65 70 75 80 85 90 %5 100



intersection

A point where two or

in t e r S e c ti O n ) AN > more functions intersect.




interval

e ) < x<1i1s an interval which
contains 0 and 1, and all
numbers between them

interval ..o

[0, 1] 1s a closed interval

e 0<x<1isan interval A set of real numbers

which contains 0 and 1, and with the property that

d all numbers between them any number that lies
l n t e rV al . . between two numbers 1n
* (0, 1) is an open interval the set 1s also included in

e [0, 1] is a closed interval the set.



interval notation

interval  For-2<x<8, the

interval notation is

notation -2, 8).

For —2 S x < 8, A notation for describing an

interval on a number line.

interv al th e interval ;Fhe @nterval’s endpoints(s)

re given, and a parenthesis
or bracket is used to

. [ J (] . -
notation NOTALION IS e wreer
[_2 . 8) . interval.



joint frequency

joint
frequency

Women 16 6 8 30
Men 2 10 8 20
TOTAL 18 16 16 50

o ®
J O lnt Dance | Sports | Movies | TOTAL Entries in the body

Women 16 6 8 30 of the table are
Men 2 10 8 20 called joint

frequ ency forab] 16 16 50 frequencies.




laws of exponents

For all real numbers X and all
integers m and n,

laws of he theorem sating

m the elementary
=X ,X#0 properties of

exponents . . . ..



A line 1s the straight path
connecting two points
ln e and extending beyond
the points in both
directions.




o 600 - y= 11.731x+1.93.85
1nc O
£ 400
3 300 -
200 -
100 -
est 11t
0 5 10 15 20 25 30 35 40
Fat (g)
700 -
° 600 - I O A line of best fit (or “trend”
lln e O f g ] line) is a straight line that
Ea best represents the data on a
8 300 . .
200 - scatter plot. This line may
100 | pass through some of the
b e S t fit 0 —— points, none of the points,
0 5 10 15 20 25 30 35 40 or all of the points.

Fat (g)



line seg

A line segment is a part

lin e C D of a line that is bounded

— o—s by two end points, and

contains every point on

he line b its end
Segment the line pcztizfse.n 1ts en



linear equation

An algebraic equation in

®
lln e a r which each term is either
h d
2(x - 5)=3x +4 ‘s

[
fi inol
equation oD e



linear function

J)=3x—-4  pynctions that are a first-
/ degree polynomial of

®
linear
° ) X one variable. The graph
fu n Ctlo n / of the function is a line.




linear regression model

linear
regression
mOdEI " 5 e Fi(:(g)zs oo

Calories
W AN

]
lln ear 500 A model that shows the

o relationship betwgen two
regreSSlon variables by fitting a
model

Calories
(O%) N

linear function to
observed data.

5 10 15 20 25 30 35 40
Fat (g)









